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INSTRUCTIONS FOR CANDIDATES

Answer all questions.

All questions carry equal marks.

Only one answer is to be given for each question.

If more than one answers are marked, it would be treated as
Wrong answer.

Each question has four alternative responses marked serially
as 1, 2, 3, 4. You have to darken only one circle or bubble
indicating the correct answer on the Answer Sheet using
BLUE BALL POINT PEN.

|

{

[ T e 35 = <

| e st SIRC U9 F TERT Fes g 6.  The OMR Answer Sheet is inside this Test Booklet. When

TIET IS T BT per ST, 1 SR—91 - e o
maz—m:ﬁﬁiﬁamﬁﬁ@ﬁmwﬁl

7. mm‘m?ﬁ%qmaiasmvammml 7.

HISTSERCES T 'ﬁ“ﬂt\ﬂﬁ IR[&E ST &WM‘?EW%W@
:»rr%‘a‘*\_:m H g1 gl lﬁm?‘?ﬁa’ﬁaﬁ?‘rmmﬁ

8. Wq'qqgmawmﬁaﬂamqﬁmﬁaﬁmm g

mglm%%ﬁsrouaﬁfwﬂ?ﬁmiﬁamﬁﬁ

T O 9% fqeg STATT &R P9 aR srfard) a8 srn |
mm#mwaﬁ.mm.mwm&mﬁqﬁm1@

©

you are directed to open the Test Booklet. take out the Answer
Sheet and fill in the particulars carefully with blue ball point
pen only.

1/3 part of the mark(s) of each question will be deducted
for each wrong answer. A WIONg answer means an incorrect
answer or more than one answers for any question. Leaving all
the relevant circles or bubbles of any question blank will not
be considered as wrong answer.

Mobile Phone or any other electronic gadget in the
examination hall is strictly prohibited. A candidate found with
any of such objectionable material with him/her will be strictly
dealt as per rules. ’
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5 Marks can be deducted for filling wrong or incomplete Roll
Number.

10. If there is any sort of ambiguity/mistake either of printing or
factual nature, then out of Hindi and English Version of the
question, the English Version will be treated as standard,

Warning : If a candidate is found copying or if any unauthorized

material is found in his/her possession, F.ILR. would be lodged

against him/her in the Police Station and he/she would liable to be
prosecuted. Department may also debar him/her permanently from
all future examinations,

3 We gRa®T 1 99 ah

B G 1 AR A G e M 1L

Do not open this Test Booklet until you are asked to do so.




3 Y13

T T E e

Y A S B R

#
:
|
|
|

1. From the following information :
Hg(l) + Clz(g) — HgCly(s), AH = — 224 J
Hg(l) + HgCla(s) - Hg2Cla(s), AH=412]
Calculate AH for the process —
HgaCla(s) — 2Hg(1) + Cla(g)
1) -26521]
(2) +183.87J
(3) -183.81J
@) +265.2]
2.  Consider the factors -
(a) Valency of the metal
(b) The principal quantum number of metal
(c) Geometry of the complex
(d) Nature of the ligand
The magnitude of crystal field splitting energy
Ao depends upon -
(1) (a) and (b) only
(2) (@), (b) and (c) only
(3) (c) and (d) only
(4)  Allof (a), (b), (c) and (d)

3.  Enthalpy of vaporization of benzene is +35.3 kJ
mol™! at its boiling point 80°C. The entropy
change in the transition of the vapour to liquid
at its boiling point (in JK 'mol™) is -

1) -441 (2) -100
Q) +441 4 +100

4. Which of the following shows geometrical
isomerism?

(1) Propylene
(2) 1-butene
(3) 2 -butene
(4) Isobutene

5. Conformations are different spatial
arrangements of atoms that result from -
(1) Rotation about a single bond
(2) Rotation about a double bond
(3) Reflection through a plane
(4) Translation along the single bond axis

6. Human  development follows certain
principles, out of following principles which is
not correct?

(1) Development is a product of
interaction between heredity and
environment.

(2) Development is a continuous process.

(3) Development proceeds from specific

aiSTSEe

SRS N

srEnforad e | —
Hg(l) + Clz(g) — HgCla(s), AH = — 224 J X2
Hg(l) + HgCla(s) — HgoCla(s), AH = 41.2 ;]L G5
fAfspar & AH @Y o1 B — D% \
Hg2Cla(s) — 2Hg(1l) + Cla(g) ¥ 448 7% |
a - 265231 -

eI — 2§—’ o

(2) +183.87J ITRRCEP |
3) -183.87J Lo 3% ”w‘?, g
K
4) +26527 _
PR TR R @R —

(@)  oTg @ WA

(b) OIg P &I F@rCH TN -

(c) kel B SAIAfT ~

d) frts @ ygfr «

e &3 RaAfeT ot Ao &1 94 R
BT & —

(1) Pad (a) 3R (b) W

(2) @9 (a), (b) 3R (c) W

(3) ®ad (c) 3R (d)

@ = (a), (b), (c) 3R (d) R

80°C WX +35.3 kI mol' &, 79 SW AT B |- 1
g & HHAT B g i) # yRads &
(JK'mol! #) — oL o X
1) -441 }j{v‘ ~100 rpg 253
(3) +441 +100 1o

sEifeifRac At & @l et
FATERIET fexarar 27

D) Wit xec—c=C

@) 1-"gd"  e—c=cze

By 2-dH

@

DIGHIA AR & AR sl Ry
g, Sl I B & —

\GY)’WWWW??#

() U fgdg = goiq

(3) TP A B ERT Wiaaq |

(4) UPBTH! G981 UR AR X

A AP 6o RIgTl b1 SEReT P

gbﬁmﬁmmﬁﬁmmﬁ

(1) fI@ra aEERer vd angdfEar @
qeg I fohar &1 saarg 2 -

(2) & waq ufsar & -

By o™ ARt | 9m= &) 3R T

BT & |~
to general. D R i
(4) Different aspects of development are “@ 3 ® - el ST ?I?T
interrelated.
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10.

The vapour pressure of a pure organic liquid
(M = 80) at 30°C is 0.850 atm. A non-volatile,
non-electrolyte weighing 0.5g is added to 40g
of this organic liquid & thep the vapour
pressure of the solution is found to be 0.845

atm. Calculate molar mass of non-volatile
electrolyte. '

1 95

@ 32

@) 170

@) 64 -

The paramagnetic moment of Mn2* jon is -
(1) 59BM '

2) 49BM

3) 3.9BM

4) 2.8BM

Calculate AG at 300K for the reaction :
2NO(g) + 02(g) — 2NOx(g)

Given that : AH = —120kJ and AS = — 150JK-!
1) 165kJ

2 -85k
(3) 82.5kJ
@ -170k)

7. 30°C R U& fagE AT 59 (M = 80) &
< 919 I19_0.850 atm € | U ATt faege,
IFATEST &1 0.5g 99 40g 30 HHEAF g

# foemar T, & [ede &1 9 29 0.845

atm 9747 AT | Iarreiel fagld ey &r

HIeR A ST & | n W
B ?Q'? -— ﬂz_
1 95 =% "M eas
: ™o
2 32 g.gs? g WoM i
.
Y s Iy GO

@4 o4 =g Moxtb

8. Mn“%ﬁ@ﬁ?ﬁmmﬁs—bs
\/((H 5.9 BM g,AskLG‘L';) ad-Ys ’%

2) 49BM =)
3) 3.9BM m
@) 2.8BM
9. 3ffhar 2NO(g) + 0x(g) — 2N O:(g)
@ fU 300K W AG @1 TOFT &R
f&ar & : AH = —120kJ and AS = — 150JK-" 110"

1 165kJ ‘
2y -85k A& ~BW-TAT
3) 825Kk —\2ox(ZeoX —]S‘s’klb—:
2o tHSeesYiE
4 -170KJ 3 .

' . ¥
The electrophile E® attacks the benzeneringto  10.  3oraei W& E® T IoTT IR AMHHY BR

generate the intermediate o-complex, of the
following which o-complex is of lower

energy?
@) H

Bl oW a8, Prefafeg ¥ @
¥ o-Hga B Haf ey 22
@) H -

@)
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a=224 ST A2 AT Gy ‘

CICH,COON e
11. ACICH;COONa =224 ohm™ cm? gm eq’! t ;thCl 38.2 3 yer | 92 7T @Wlaﬁ
ANaCl = 38.2 ohm™ cm? gm eq”! AHICH = 203 presy MP/W
AHCI =203 ohm™ cm? gm eq”! ACICH COOH T AT &I 87 .
What is the value of ACICH» COOH? 2288 s aipr! A2 TTE W
(1) 288.5 ohm™! Lm‘ gm cq 1) 589.5 airsr! A2 7T gana;
(2) 2895 ohm“ cm® gm cq ) 3.5 ar! 2T gc—.q[zﬁ-
() 38S.8ohm'em? am cq W 34 afrer! N2 U g?:n’?ﬁ'
@ S9Sohm™' em? gmeq™! 4) 595 BT e ATFNBIOT 3F
12. Highest oxidmion number of nitrogen is 12. fepearsi =||3§lGI I —
. %(?1) N o
) NHz 3 _AN=N=
@ HN: ~(2) " HN3 S
(3) NH:NH: 3 Ngzggz e xr—t
($) NH:OH & N W . 5
13. In which of the following reactions, for 13. SmENfIRaa errafzpareil & fhad sEF-EE
replacement of diazonium group by a —Br W‘f&' ® —Br K3k G I ufoeenfug &3 @ %?
group. copper powder is used as a catalyst? HUR gIee SANP & ©Y ¥ YIIT Fai B
27
(1) Sandmeyver reaction 1) J==9gr FfHfmar —
(2) Garttermann reaction ) FrexmE afHEEar —
(3) Reaction with KI @By KI & 9 Far
(4) Reacuon with HBF; (4) HBF: & =T GTQ'?%HT
14. Which of the following reagents is used in 14. IJNfINRTT IFIBT § = 1° 2°3R 3°
separation and detection of 1° 2° and 3° 3T ® TSI Ud gUIHIOT F T amar
amines? =14
(1) CgHsSO-Cl (B~ CsHsS0.Cl
(2) NzaHSO: (2) NaHSO,
(3) CHzCOCI (3) CH-COCI
(3) HNO: (4 HNO:
15. Assertion (A): Lanthanides donot form amine  15. (A): TFeETES o ¥ iy Sils ot
complexes in water. TE g €
Reason (R): Water is weaker ligand than PR (R): . S
el ()grrrﬁ’ﬁaaﬁm_ i fyrte
Select the correct answer - e IR A —
(1) Both (A)and (R) are true and (R) is the :
correct explanation of (A) ) fi?zg‘)“;ﬁ? (R) Y%HI g 3R (R).
(2) Both (A) and (R) are true and (R) is not ) < (A) it (R) W &
the correct explanation of (A) (A) 2 TR T e Wﬁ (R),
(3) (A)is true but (R) is false S
(4) (A)is false but (R) is true (3)/ (A) ¥ & 3R (R) srrey E-‘ \'
N (A) IR F IR (R) |y 2
16. Mustard gas is prepared by the reaction of 16. WS 9 g9 %‘g fohar w=mey g, ufRreie
ethylene with - D] —
(1) AICl (1) AICL R
(2) SOCL (2) SOCL
(3) ZnCl 3) ZnCh
@) S:Cl @)y S:Ch N
14-99 Page 4 of 32 Q‘*‘:f_f”" + HU—) U ¢ coopy
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17, The charge over anode in a galvanic cell is -
(1) Negative
(2)' “Positive
(3) Nocharge
(4) Sometimes negative and sometimes
positive
18. About RMgX, untrue statement is -
(1) Itis prepared by addition of RX to an
excess of suspended Mg in a solvent.
(2) The solvent used must be nonprotic
polar.
(3) It can be stored like any other
chemical.
Q)

It is the most important organometallic
compound of Mg.

19. The non-essential amino acid is -
(1) Alanine
(2) Valine
(3) Leucing
(@) Lysine"

20. The paramagnetic behavior of ion 07 is
explained by - ”-
(1) Valency bond theory
(2) VSEPR theory
(3) M.O. theory
(4) Hybridization of orbitals

21. For an elementary second order reaction:
2 A — products, the concentration of A reduces
from initial 0.2 x 102 mol/L to 0.05 x 107?
mol/L after 10 min. What is the value of rate
constant of the reaction?
(1) 1.5 L mol™ min™
(2) 1.5x 10> L mol”! min’
(3) 3.0x10° L mol’ min’!
() 0.75 x 10> L mol” min"

22. Untrue statement about Debye T° law is -

(1) At very low temperature (0 <T< 15
K) Cp=Cv

(2) According to this law :
Cp=Cv=aTl’

(3) The absolute entropy at temperature
(T<15K)is detemir’}ed from the

aph of Cp versus InT. . |
@ %’rhg absoluI:c entropy is determined

1

17.

18.

19.

20.

21.

22.

TF Teifd A | TArs W 3w ayar § —

) ROTHD

(2) =TS

(3) PIS IMAY &I

@) TN BFIR EUHD PN TR
AT D

RMgX @ Hae ¥ g Ho & —

(1) sua A RMgX &1 1@ faamas
¥ freifea Mg @ @ ey s
gl

(2) fRes sfes gaa A Ty |

(3 SHD I XAl B TRE FUT IR
ghd & '

(4 T& Mg @ Wi wewaqel
Freulfcas AfF B |

IFTgee VHIAT 3T © —

Wy tenE Ty ML PETR
Q) afem v

3) A

(@) <

M 07 B ATFEDIT T[0T DI ARAT Bl
e

1) arTedar s g
Q) Ngwsdem e
@) T e
(4) FEIDI BT HBT -
U i IfAfhar @ 2 A - Sare, Bdy
D @ B IHP  URAP ARl
02 x 10% mo/L &1 ®9 10 fi5e #
0.05 X 10" mol/L Y& WTaT & | JIMAfhar & a7
e o1 A9 | 87 K= L L
1) 1.5L mol! min™ ax o
@) 1.5x10°L mol' min" k3(_\ —_l,}
\(3) 3.0x10°L mol" min!  %o3xE* oz
4) 0.75x10°> L mol™* min’!
<qE T R @ wew § o wee ¥ —
(1) fy =1 am 0<T< I15K) =

Cp=Cv
(2) 39 M & IR : Cp=Cv =ar?
() e ol @ A A (T< 15 K)

WR ST XA & Cp 3R InT & T

|
@) RO 2 @ WA Cp AR T B
6 | U B & |

from the graph of Cp versus T- 5888 daoo o0
T )'E_—W———" > pe +4 (o7 5ok
4.9 9@’ 4 2 > P ( L »\.-L) < = i
i @ 7 =) .9 ,IEJ . @?SI;H—SXM

ler 2xr (o

o mrrare AN T S A o T AT DU R e o v N L G DR W o e
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23. Among the following substituted aniline, 23.
which is strongest base? S P B7 -

(1) o-aminoaniline @) o- Eﬁl?ﬁ?"ﬁf'ﬁ—'f ; ~ A,
(2) m - aminoaniline 2 m- ;
(3) p-aminoaniline 3) p-

(4) p - methylaniline @) p - ARNATACATX

24. Which of the following polymers is not found ~ 24. arenferiad El’g'?fl’dﬁ F = dre 31\]7 SIGCAE

in plants and animals? ¥ =& grar S 87 ;
(1) Buna-S ‘\(/l’j &A1 — S
(2) Rubber (2) & -
(3) Starch 3) -
(4) Cellulose @) -@W
25. Which of the following statement is not true for ~ 25. aeifoRad sl § drFar LCAO ﬁfET Eg
LCAO method? forg wet el 87

(1) Combining orbital must have the same @ ggﬁ aqTel PEHT P FHoll GHA QT
or nearly the same energy.. ST GHE BT afee |~

(2) Combining orbitals must have the ) @@ﬁ aral BRI B Hfafa, o7
same symmetry about the molecular FEF IR GHE g\r,ﬁ i\T%QI
SO . (3) TH T B p, TG T MY

(3) A p.orbital of one atom can combine & p, FED A TS FH 2
with p; orbital of another atom. @& T TR B px' TEE TER A

(4) A px orbital of one atom can combine S
with p. orbital of another atom. T p. PHP 3 ¥ T gl

26. Which of the following is not the characteristic _ 26. frfafag & | s '\‘Tﬁw 2 g
of communication? 8l 8?2

(1) Communication is dynamic (1)  Fuyor faeha &

(2) Communication is continuous (2) EI§oT IrfaRH ®

(3) Communication is reversible 3 YT SSpHAT ®
(4) Communication is interactive @) ST ﬂﬁm %

27. The teaching strategy, in which students of 27. d% REMy g = ﬁmﬁ Perr A |a|§l'_'l gfi’ ,
different intelligence levels in the class learn R ® foemf feex sr-or gl §
together in small groups is called - IEHR AR BRY L, el & — ‘

(1) Step learning (1) ug IRy
(2) Brainstorming Q) RIS SEeH «
(3) Co-operative learning ‘ @) TEFT SIfQTIT{ d
(4) Hierarchy learning

AT TRTIHR SReT

28. Who was the propounder of Advance 28. WA WISHIHS WioHE & Yadsd ’cﬁ'-‘f 9)7

Organizer Model?
(1) Richard Suchman @) ReS wed
(2) David Ausubel Oy e smgee
(3) J.S. Bruner
(4) John P. Dececco 8; zf\{"m“t;g;ﬁ
. RS
14-% Page 6 of 32 Wrang



29. Assertion (A): The nitration of toluene 29, ARAPAT (A): SAGRT B TER¥H R Ry
‘ produces larger percentage of fawenfaa scre @ wfcrerere
para substituted products than 3l IS B e I
ortho products. Bl 2
Reason (R): The para position shows no steric BRUT (R): it Rerfa B9 faardy aren
hindrance. . IO~ HRAT B |
Select the correct answer - |E IR A — _
(1) Both (A) and (R) are true and (R) is the (1) =Fi(A) R (R) 9 & 3R (R),
correct explanation of (A) (A) DT AE ARAT &
(2) Both (A) and (R) are correct but (R) is (2) <Fi(A) IR (R) wg & R),
not the correct explanation of (A) (A) B A8 ARAT A& Hal
(3 (A)is true but (R) is false (3) (A) 93 © @R (R) a9 &
@) (A)is false but (R) is true @ (A) 39 ? @R (R) O 2
30. ‘The half-filld and fully filled electronic 30, wEfyRT Td QUIgRA SoEEHRT  TRETY
configurations are more stable than partly filled 31feren Yot B €, rqef wRaTel BT e |
configurations due to - BT PRI & —
(1) exchange energy & fafma setv
(2) lattice energy Q) AP Sl
(3) ionization energy (3) ST ol
(4) electron affinity @) TorEe e
31. Which is not antihistamine drug? 31, gfo-RemET g7 E & —
(1) Iproniazid L gt smswifaiys
(2) Ranitidine (2) RS
(3) Cimetidine 3) Efeda~
(4) Brompheniramine W BRI
32.  What is the name of technology that employed  32. S T@+1% & 717 @7 & NCEIERS
activities involving information which include RIGICICE I MR E LT Bl 7 o
gathering processing, storing and presenting Tfafafeai § Ser whmer yevRer, WeRT
data, increasingly these activities also involve 3R U BRAT MR 2 dol g EX|
collaboration and communication? TR § WeanT @ik 99 91 onfe 22
(1) Artificial communication tecbnology (1) T SN gee
(2) Information and communication Ly o R SOR 9o
technology Q) i wtad deie
(3) Intelligence combined technology @ I qEe
irtual technolo : ! -
33. ’I‘(:g n?)/llll;tbonding ele%zlrons of NH3 are in 33, 3 & a—4fg $IaR T fb| MO % BHI?
which of the following MO?
a) la (1) 1a,
2) 2a,
2) 2a
3) 3a Q) 3a
4) 2e ) 2e
34, F(or the calculation of standard molar enthalpy 34,  H,O@fw) & RRER! D HIoR ikl TRy
of formation of H20(g), the reference standard P18, Wk AT o Tt &
state is not - 1) 25°Cqam
(1) 25°C temperature (2) 1.0atm. TN
(2) 1.0 atm. pressure R SRR §
(3; H> and O; in gaseous state g ?%P.aﬁj O i J
4) STP = — 'b%
e Ae iR, g o §
X -RIR) =
O a
& ) +
ﬁ‘y@] Tl o o T R Y R T AT YA 7 e L A e e e e
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35.

Y]
~1
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39.

35.

The reaction between an o -
and a carbonyl compound i1
zinc is known as -

(1) Blaise reaction

(2) Blanc reaction

(&)} Reformatsky reaction

(@) Clemmensen reaction
complexes,  he 36.

Among the following ‘
shall be given

maximum  AgCl precipitate
by -

(1) [CoH:0%]Cls

2)  |CoH:0):Cl)

(3) [Co(H:0)CLICI

(@) [Co(H:0)ClCL
Consider the following epoxides =

(@) 2 -cthyloxirane

() 2.3 -cpoxybutane

(¢) 2.2-dimethyloxirane
The molecular formula CsHsO represent which
of the abave?

(1) (a)only

(2) (b)only

(3) (b)and (c)only

4) Allof (a), (b) and (¢)

<

All of the following are characteristics of 38.

benzene, except -
(1) benzene is planar v~
(2) there is complete delocalization of
7- elecurons
(3) benzene obeys Huckel-rule~”
(4) C-C bond length in benzene is 133pm

The t;of a first order reaction is 80 min. In how 39.

much time the initial concentration of the
reactant, which is 2.0 mol/L, shall be reduced
10 0.25 mol/L.?

(1) 120 min

(2) 640 min

(3) 240 min

(4) 320 min

When four lires of an ideal gas expands 40

isothermally into vacuum until its total volume
is 20L, calculate the work done. Given
R =0.082 L atm K" mol”

(1) 0.430J

(2) 0.0162)

(3) 5.00J
4) 00J

(ol O‘Qqs ~&b
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37.

NCE

s — .

iQ')"—L}.I} — W
72019 P AT 2(;595 x, ] - 17

o
% R(r‘]"(ﬁ-dfm% A
e arfafarar ‘

) y
arnfeifet B
arTT? .
148 [Co(l-le)olUJ
[C()(HzO)JCh]
() [CoHh0)ChICL
) (Co(H0)sClICL ,
e s AT o R % -
() 2:&21@3311@?"
by 2,3 -TAEELET
© 2,2 SEARESIRINT
C4HsO 3uferRad | ] Tefia

| T ST I

PRl 87 P

) g (a) S

(2) (b) 6-c
3) @ad (b) 3R (c) ?2552

W (a), (b) AR (c) T B

aelffEd <P et o a4 T

T &, Ry —

1) I S §
2) nsﬁ?ﬁ?mﬁwﬁﬁmé
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41, When the bond order between carbon atoms in 41, o v, oReia ek gRufediE A GOCE|

cthane, ethylenc and acetylene increases, then - AP @ amdy ife # ?{% B &, -
(1) bond length and bond energy  both d o1 T v Sl ;
increase, 1 = AR ﬂ*ﬂ T 5]
(2) bond length and bond energy both (2) @ g ofR d ol ST gl
decreases, (37 A gedt @ alR 9y FHort agdt
(3 bond length decreases and bond cnergy '
increase, 8l f ;
(9 bond length increases and bond encrgy @) & 750 8 AR A
decreases, 2
42 Forapericyclic reaction, untrue statement is -~ 42, @ rmsfies afifEa @ wag 8 aw
T B —
() The electron are reorganized in a (I) 35 2 H o
cyclic manner. qu?rm St
(2)  The reaction is concerted. @ 3 (conceried) STER
(3) Reaction is highly stereo selective. (3) It safRe wiRar Reifdes
(A" The reaction is generally affected by gl 21

catalyst or by a change of solvent. {4y SORG  eyd ERIRE Rads &
e aifaferar ura: wArfae 2t 2
43. Which of the following d — orbital is an axial 43. 3®ifafREad d - @&HT ¥ 49 F J&0T

d - orbital? d— FeF 27
@ do % L@ da
@) dr-y By d2y
4) dy ()] - dy;
4. Identify z - configuration - 44. 2 —TREAT gEAIAY —
CH, CH H
'\C ~H \ J\C/
(1) Il @ |l
C
CI/C\ Br Cl/ \Br \
CH, Br !
Cl{3\c/Br '\C/ r
(2) ] ) ||
C
C 7N
Cl N H \ gl CIH
: |
H ¢ Nes
c 3) I
(3) | C
PASN \ B Nl
Br Cl
\ CHA_ . _H
CHa_ . M o
4 ﬁ il I
) €
7N
N GRNG Be Cl

. wa -
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45,

46.

49.

Which of the following metals provide
cathodic protection to iron?

(1) AlandCu
(2) MgandZn
(3) Znand Cu
(4) Aland Ni

Consider the following conditions of reaction :

(@) Configuration of the reactant.
(b) Number of double bonds in the reactant.
(©) Thermal or photochemical conditions.

The configuration of the product in a pericyclic
reaction depends upon -

(1) (a)and (b) only

(2) (b)and (¢) only

) (c)only

4) All of (a). (b) and (¢)

The osmotic pressure of solution containing

1 x 10°M acid is 0.248 atmosphere at 27°C.

Calculate the Van’'t Hoff factor of the acid.

Given that R =0.082 L atm K™ mol™.
(1) 1.00
(2) 046 .
3) 1.50
@ 0.02

If e

what is the Eigen value?

(1) 2a

2) 2

3) >

4) 1
Untrue statement about Michaelis Menten
Constant Ky, is -

(1) Km = ———k-;(+k2
1

(2) Km equal to the concentration of
substrate at which the rate of formation
of product is half of the maximum rate
at high concentration of substrate,

(3) Knm is an equilibrium constant,

(4) K is a steady state constant,

14-%°
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is an Eigen function of the operator Gl

45.

46.

47.

48.

49,
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50, For the reacion N2 + 3H,. — 2NH;

NH;] =
ifé[’m)'-:z x 107* mol L-! S, the value of

-] o ould be —
At

(1) 1x10~* mol L' §-!
(2) 3x10" mol L' §-!
(3) 4x10* mol L' g
@) 6x10*molL"s-!
51. Consider the drugs for pain relief —
(a) Morphine
(b) Heroin
(c) Aspirin
.(d) Paracetamol
The non-narcotic drugs are -
(1) (a)and (b)
(2) (c)and (d)
(3 (c)and (b} .
(4) (a)and (d)

52, Among the following isoelectronic ions, which
one has least radius?
(1) Na*
(2) O*
3 F
(4) Mg2+
53. In the reaction sequence -
C,H,Cl—2 5 CH, =CH, —2— CH,Br
I
CH,Br

C

CH=CH <2 CH,=CHBr
the reagents, (A), (B), (C) and (D) are -

(1) (A) = Alc: KOH; (B) = Brz; (C) = Hot
water; (D) = NH3

@) (A)= Alc. KOH; (B) = Brz; (C) = Ale.
KOH; (D) =NaNH;

(3) (A) = Aq. KOH; (B) = Brz; (C) = Aq
KOH; (D) = NaNH:

@ (A) = Ag OH; (B) = Clz; (C) = Ale.
KOH; (D) =KNH: .

50.

51.

52.

53.

th) _ v LX\6
ST = Y

MAfHAT N2 + 3H; — 2NH; & f3yu afe
ﬂ:i’]ﬂxm“‘ Ara ofer-! Ywve B A

(1) 1x10~* 9 ehex! Jpve-!
2 3x 10~ 9 e Favs-!
(3) 4x10* A fex! Apve-!
@) 6x 10~ 9 ohex! Jpvs-!
FNfRad ge—FaRs g9 R fdar & —
(a) HHE
(b) B
(c) TRaR=
(d) WIRrerre
AP BT & —
D) ()R (b)
@)~ (c) 3R (d)
(3) () 3R (b)
@) (a)3R(@d)
seiferRaa THemae JIRMET 4, JEas Ban

faa! 2? 1)
o £ No. mat-

(1) Na*
(2) O
@ F
@~ Mg
AffhaT S —
CsH,Cl—A—5 CH, =CH, —B 5 CH,Br
|
CHzBr
c

CH=CH 2 CH,=CHB:

# (A), (B), (C)3R (D) & —

(1) (A) = TedhIeiferd KOH; (B) = Bro:
(C) =T W&; (D) = NH; '
(A) = TepIEifeid KOH; (B) = Bry;
(C) = Uedietfer KOH; (D) = NaNH,
(3) (A) = Weim KOH: (B) = Bm;

(C) =il KOH; (D) = NaNH;
@4 (A = Ag OH; (B) = Cly
(C) = Tehlgifer KOH; (D) = KNH;

~A2)

ot e
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B
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' | - The number of possible monochloro structural
i isomers from (CH3),CHCH2CHj is -

k- 1 3
i 2) 4
@3 5
N 55
SS. Identify the R configuration - :
Cl
€) CII;CH;CH;“—CH:CH,
H
CH,
@ H } OH
CH,CH,
0]
Il
C-OH
3)
H CH,
OH
CH,
@ HO H
CH,CH,

56. Identify the incorrect statement about carboxyl  56.

group -
(1) Carbonyl carbon is electrophilic.

(2) Carbonyl oxygen is electrophilic.

(3) High polarity of carbonyl group is due
to resonance.

(4) Carbonyl carbon and three atoms
attached to it are in the same plane.

57. Among the following steps in H, & Br, 57,

photochemical reaction, which one is ap
inhibition step?

(1) Brz+hv—2Br

(2) Br+H:—>HBr+H

(3) HBr+H - H2+Br

(4) Br+Br—-Bn

14-%° Page 12 0f 32
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:"58_.'-’,.

acids are higher than
aldehydes, ketones and
alcohols of comparable mags
Reason (R): Carboxylic acids have more |
extensive association due to
inter-molecular hydrogen
bonding.
Select the correct answer -
(1) Both (A) and (R) are true and (R) is the
correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not
the correct explanation of (A)
(3) (A)is true but (R) is false
(4) (A)is false but (R) is true
39. 'Who described the utility of audio — visual aids ~ 59.
in teaching learning process by his cone of
experiences?
(1) Edgar Dale
(2) Edgar Bell
(3) Edgar Brain
(4) Edgar Rayn

60. Among the following analytical reagents, 60.

which one is based on rare earth element?
(1) Ceric Sulfate
(2) Potassium permanganate
(3) Mohr’s salt
(4) Potassium dichromate

2H HCI 61.
61, _ 4 5 CH,-CHO+
CH,CocCl1 Pd/BasO, 3

The above reaction is called -
(1) Reimer—Tiemann reaction

(2) Cannizzaro reactipn
(3) Rosenmund reaction
(@) Reformatsky reaction ing 62,
o Which of the following has the highest pac ng

efficiency?

(1) Simple cubic

) BcC

@) Hcp

. Assertion (A): The boiling points of carboxylic 58

AMFHAT (A): FEiGA(AS AT § FaAID
T GAME R & CfeeErgs,
P U9 Tobleidd § S
B 8 |
FROT (R): praifeaferd el H aifed
HAR—3T[F FTFgI a1 BIell
2
e SR YAl —
Wy~ @Fi (A) @R (R) G & AR (R),
(A) B TI ARAT &
@) <Hf(A) R (R) 9 & TG R),
(A) B T ATAT el &
(3) (A) T & 3R (R) 37T &
@) (A) 3G 2 3R (R) 94 &
Rror aftr™ ufhar & SRM HA-5
il &1 SGIFCT B 39 gHd TR gRT
fpas quiE fdar?
W TR sd
(2) TSR
(3) TSR 7
(4) TSR XA
FENfIRae J9aftd AfMBAD § ST god
TSI Tl TR ARG 87
Wy IRP Febe
(2) URRRM RARMC
(3)  AIER S9oT
@) URRIH SRS

2H
T ==
CH,COCl7mee> CH, ~CHO+ HCI

SURI AMhaT Hearh & —
(1) ER-CEE AfAfsar

(2) HARY Affra

3y RN IR

“) T it

1 # R PITT Soerad Weger QAT T
4

(1) R gy

2) BCC

\(3)/& T

@) -\q‘ﬁﬁﬂ'ﬂﬁam%

(4 me efﬁcieﬂcy
» ) All have sa e -

@




63. Regarding the substitution reaction Sn2 of an

alkyl halide, which has a halogen bearing group
attached to chirality centre, the untrue
statement is -
(1) Order of reaction in each of alkyl
halide and nucleophile is one each.
(2) Both RX and nucleophile are involved
is transition state.
(3) The configuration of the product is
inverted relative to RX.
(d) More than one stereo isomers are
formed. '

How does hydrogen fuel cell generate 64.
electricity?
(1) By combustion
(2) By fusion
(3) By fission
(4) By electrochemical reaction
The incorrect statement about complexes 65.
formed by lanthanides is -
(1) Hard donor ligands are preferred.
(2) High coordination numbers are often
favoured.
(3) 4forbitals do not play a significant part
in metal-ligand bonding.
(4) Aqua ions are typical and
6-coordinate.

The oxidation state of cobalt in complex, 66.

[Co(H2NCH2 CH2 NH3)3], (SO4); is -

1) +1

2 +2

3 +3

(4) 0 (zero)

The incorrect statement about cyclopentadienyl  67.

iron complex FeCps is -

(1)  Oxidation state of iron in FeCp; is 2+.

(2) Oxidation state of iron in FeCp, is
zero.

(3) It is also known as sandwiched
compound.

(4) 1Itis a metallocene.

68. Standard molar enthalpy of the formation at 68,

298 K is not zero of which of the following?

(1) Brz(gas)
(2) ClIz (gas) -
(3) Nz (gas)
(4) 0:(gas)

14-%
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70.

72,

e —
e

L
[R5 S

" The transition elements (3d-series) jon having

69

the configuration given below, shows

Jahn-Teller effect?
@ d
2 o
@ d"°
@ &
Among the following variables -
() pressure
b) volume
(©) temperature
(d)  composition
which ones are state functions?
(1) (a)and (b)
(2) (b)and (d)
(3) (c)and (a)
4 Allof (a). (b). (c) and (d)

Identfy the untrue statement about  an

electrocyclic reaction -
(1) Itis an inter-molecular reaction.
2) A converts into

product.

(3) Itis a reversible reaction.

(4) When it reverses, a 6 - bond in cyclic
compound breaks (o form a conjugated

reactant cyclic

T - system.

Consider the following processes -
(2)  Addition of AgNOs solution 10 Kl

solution.
gNO;3

(b)  Addition of KI solution 10 A
solution.
(c) Addition of FeCls to excess hot walter.
(d)  Addition of FeCls solution 10 NaOH
solution.
The positively charged sol is formed in case
of -
(1) (a)only
(2) (b)and (c)only
(3) (b)and (d) only
(4) (a) and (c) only

69.

70.

71.

12,

L I R e 2
IR WREAT T B |l A
SifE— R i T8l g 87

M d° Gj

2 o (1T
(3) dIO

L

arNferRae @” 7 —

(1) G P

by e Y

(c) 1Ll T

()  Hued

P A FET HAT 87

(1) (a)3R(b)

2 (bR

3) (c0)3R(a)

) 0 (@), (b), () R (d)

ﬁmﬁﬁ‘rﬂ?ﬁaﬁma‘smﬁ, FE

PAT T —

N T TF AR—ATF AHHAT B

@ tF sheHs wEfEs SaE ¥
gRafda g wrar 21

(3) TE Ud IohAIa JMHfhar 2|

@) <@ sffkm Red @ 2 ar
rgfderd AATE T Uh o—aE TEHR
U Gl n—Raees aear 2|

senfafaa ufFurl ) RER &R -

() AgNO: e &1 KI e 3

fAverr |

(b) KI e & AgNO) Rerm 3
fAeIr | '

() FeCly &1 W Gl @& oy i
e |

(d)  FeCly facrusr & NaOH e ¥
faverrm |

e ifer faras gam?
(1) fhtiol' (a)

(2) @acr (b) IR (¢)
(3) DAl (b) 3R (d)
(4) DA () I (¢)

e ——
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# 9 DRI TPAH
73.  Which of the following technology is not u§efu1 @ ﬁﬂﬁfﬁgg B ?“5[ IYGH T b
for implementation of Computer Assisted RN
Instructions? TSR aph
(1) Hardware Technology (g R dFE
(2) Software Technology vk ( PRI T
(3) Courseware Technology 3 RIS dE
(4) Training Psychology Technology ‘(4’)/ Bl/g?m;; Bl
74. The tendency of BFs, BCl3 and BBr3 to behave  74.  BFs3, BCl3 ; il
as Lewis acid decreases in the sequence - ZIER B DI q—‘iﬁr T HCdl T30 559 § F
(1) BF;>BCl; > BBr;3 (1) BF;>BCl;>BBrn;
(2) BCl3>BF3 > BBrn; (2) BClz>BF;>BBrn; -
(3) BBr3>BCl3>BF; (3 BBr:> Bl(;,h >B]3:I;3
(4) BBr; > BF3; > BCls (4) BBr3>BF;> 3o
75. Which of the following atmospheric molecules ~ 75.  3ENfoRad aRIHSHIY A3 H BITHT aravay
absorb infrared radiation? fereont w1 enfia e 87 |
(1) H20 vapour & H0 99
2) O 2) 0>
& W 3 N
(4) He (4) He ‘
76. Consider the following reducing agents used  76. T e & A afedst gm |
for reducing an aldehyde - ‘ AT BT & —
(@) NaBH4 (a) NaBH4
(b) - LiAlH, (b)  LiAlHs~
(c)  Zn-Hg/HCI (©) Zn-Hg/HCl »
(d)  KOH-Ethylene glycol and heat (d)  KOH-UeH ToligehTer 3R am™
Alcohol is obtained by - - fbTe T TebIRTar Ui BT &2 .
(1) (b)and (c) M) (b)aiR (c) g1 »
() @md) @1 (@ 3R (b) g
& ©and g | @ (IR () g A
(4) Al (a),(b), (c) and (d)‘ @ = () ®), (© 3R (e
77. The bacteriocidal antibiotic is - 77, SHaAvERN Hﬁl@ﬁﬁ’aﬁ - P
(1) Penicillin @) IR
(2) Tetracycline () W
(3) Chloramphenicol NEY gl N
(4) Erythromycin @ =R e R
78.  Consider the following reactions - 78.  smnfeiRag IR TR R @1 —
(a) Crystallization of a liquid into a solid (2) U 59 BT o/ 3 f A X
(b) Raising temperature of a crystalline (b) ey ORT BT A 3 0K A 100K
solid from 0 K to 100 K T oy
(© Dissociation of solid NaHCOj3 ©) NaHCO; 3 _
@ Hz () >2H (@) @ Hag) o '(a o
In which of the above cases, the entropy SRIGT R T %a—cﬁ 8
increases? g = @ (@, ® . . |
(1) (a), (b)and ()only | \p.;’ Eb; ((C; aﬁaﬁ'\; Egm
o X)l)f (( C)) E(lg;j ((d§ °"fiy(d£ ) (@), (b), () 3R (d) wft x
3 a), (b), (c) an _ e
£4; None of (a), (b), (c) and (d) @ @, ®), @3 ) ¥ & B A T o
14-9%° Page 16 of 32




7. | (’1;]210 'l(?l‘lil]1ll1011 of one mole SO; from g 02 and 5
S0,(g) + %Oz(g) = S03(p) iy exothermje by
97000 J at 300K, whcn‘ the reaction g carrie T
out at .l atm. pressure in g boml calorimeqey,
What is the value of AH for (hiy reaction
(R=28.31)?

(1) 974901

(2) -967551

(3) 995001

4 -98245)

§0.  Number of electrons that eap be accommodaeq 80.

in all the orbitals with 1 + =4,
I o
2) S
3) 10
) 2
81. Assertion (A): The paramagnetic moments of  §1.
La** and Lu3* is zero,
Reason (R): La™ and Lu** have no unpaired
electrons.
Select the correct answer -
(1) Both (A) and (R) are true and (R)is the
correct explanation of (A)
(2) Both (A)and (R) are true and (R) is not
the correct explanation of (A)
(3) (A)is true and (R) is [alse
(4) (A)is false and (R) is true

82 On the basis of given AH and AS value signs ~ 82.
for four reactions. identify which one shall be
spontaneous at all temperatures?

(I) AH=+; AS=+
2) AH=-; AS=+
@) AH=-; AS=-
@) AH=+; AS=- .

83, Which of the following gas has maximum 83.

global warming effect?
(1) Co»
(2) CHq
@) N0
@) crc-11
14~w Page 17 of 32

e
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TS AR S0, w1 S0, Td 0 9 e
S02(8) +30,(g) - 50,(g),

97000 ERr
300K R ol § v ey

DN N | agm, ST R PRTE TS| gy
MRLE U N TR - grm
(R= 83.’)? SPRT S

w=
b\"‘: __‘3 o€ - L“Q‘c

(1) 97490
2y -96755] .

(3) 99500 J

4)  -98245 j

n+l=ga‘>¢nﬁmﬁﬁfﬁeﬂiﬁmﬂ3®a§m
& e gy —

(H 6
2) 8
3 10
@ 2

AMBAT (A): La®* 3R Lu®* 2Hi @
HIIEDIT AT I R |
PRI (R): La™* 3R Lu™ F appf gomaets
TE g
el IR ufarr —
WY RH (A) 3R (R) T ¥ aik (R),
(A) &) T TrR=T 2
2) =Fi(A) IR (R) B & = (R),
(A) D |8 @ T8 dar @
B) (A) ¥ 2 3R (R) 3y 2
@) (A) I § AR (R) g 2
A T AH AR AS B AR B frm W
AMEFURT & 1y, uRemt /5 s &
B Wl W@ uRaffa 2efe
() AH=+; AS=+ O~ OH=TES
@) AH=-; AS=+
) AH=-; AS=-
@) AH=+; AS=-
stenferferer A ¥ Ryl Telast d@iffr g
ajfrw 87

L CO»
(2) CH.
3) N0

@) CFC-11




84.

86.

88.

89.

90.

Which of the following stage of moral
development comes under conventional level
as prescribed by Kohlberg?

(1) Ego - Centric Judgement

(2) Interpersonal Concordance Orientation

(3) Punishment and Obedience Orientation

(4)  Universal Ethical Principle Orientation
Arrange groups :
—CH:20H, -CH3s, —H, ~CH,CH,0H
in decreasing priority for R=S conf iguration -

(1) —CH:OH, -CH3, —-CH,CH,0H, —-H

(2) -H.-CH;, -CH,0H, —CH>CH,OH

(3) —CH,OH, —CH.CH:0H, -~CH3, —-H

4) —CH,CH,OH. —CH:0H, -CH;, —H
Which of the following is the wrong
combination of instincts and emotions, as given
by McDougall?

(1) Escape — Fear

(2) Combat — Anger

(3) Repulsion — Disgust

(4) Curiosity — Distress
Wurtz reaction and Kolbe’s electrolytic
method cannot be used for the preparation of -

(1) Ethane

(2) Propane

(3) Methane

(4) Butane

Which of the following is a primary law of
learning given by Thorndike?

(1) Law of Association Shifting

(2) Law of Readiness

(3) Multiple Response

(4) Law of Partial Activity

NMR signal is generated due to absorption
of -

(1) Infrared radiation

(2) Microwave radiation

(3) Radio waves

(4) UV radiation

Physisorption is characterized by all of (he
following, except -
(1) reversibility
(2) low enthalpy
(3) high adsorption of gases with low
critical temperature
(4) high surface area of the adsorbent

14-%

84.

8s.

86.

87.

88.

89.

90.

frefeafea & & diar W fAem
3[qRT PIgTdT FRT Uet WARTTA ®/R o
aferifer T &7

(1) 3w sfvee o

(2) URWR Uhay

(3) TS qAT ATSIUTC T

W wrdifires AR Rigia it
el
-CHyOH, —CHs, —=H 3R ~CH,CH,0H %y
Ul ddl wH W ogaRed gy
R-S IRERIT &g —

(1) ~CH,OH, —~CH3, —-CH,CH,0H, -H
(2) -H,-CH;3, ~CH,OH, —~CH,CH,OH

~CH20H, ~CH,CH>0H, ~CH3, -H

(4)  ~CH2CH,0H, ~CH,OH, —CH3, —H
Naga & IR Frafafag § 0 e
T UgRT 3R HAT BT TeAd Hioe 22

1) WE?I—*Q
(2) I — B
3) frgfr — gom

Wy Rrgmar — weon

99 ARfbAT Od Pred Riea—emee Ry

B GIRT & B Fahd &, 991 F —

(1) wIm

(2) umH

W3 W

(4)__ =

Fr=faRad % & S otiese err g

A BT wifie e 27

(1) el aRads &1

~2)  qORaT b1 R

ST 98 i &1

@) i fbar &1 farm

NMR Wagq fva R & seeige A

I Brer 27

(1) 3ravae oo}

(2) wrghIaa fowoy

3 M| =

@) UV fafezo

W aifdvenaor 3 artfeiRee wft o7 81

€, Rrarg —

(1) SopviRE -

2) e o _

N3 R I T (Te) are A @
I arferengor : ?

@) s F1 S US & Y |
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92.

which of the following is the correct formula 91

for systematic behaviour theory of Hyl|9

‘@ S-O-R

2) S-E-R
A3 S-A-R
@) S-I-R

Cannizzaro reaction is not shown in which of 92

the following?
(1) HCHO ()
(3) CH:CHO (4)

CeHsCHO
(CH3); CCHO

The incorrect statement about nitration of 93

benzene 1s -
@ X S ;
NO, acts as an electrophile.

(2) HaSOs acts as an acid and HNOj acts

-

as a base.
(3) Nitration is  an
substitution reaction.

electrophilic

(4) Nitro group has + I effect in directing

substituents.
Ozonolysis of an alkene followed by reaction ~ 94.
with Zn-H-0 yields acetone and formaldehyde:
The alkene is —
(1) Propene (2) 2-Butene
(3) 2-Methylpropene  (4) 2-Pentene
95.

A graph plotted between log k vis 1/T for
calculating activation energy is shown by -

1)
Ve
logk

)
!
logk

(3) T l ’ | o

frafifag 3 @ TGN B BT UCidE
qER Rigid &1 98l 93 &7 :
W TE-3-3IR

2) T-E-3R

(3) TA-T-3R

(4) TSR .
SR e fra 3 9 e weffa
8 e 7

() HCHO () CeHsCHO
{3y CH;CHO ¥4F  (CHy); CCHO
I @ ese @ wag H | PAT

3

W7 Yo, w med @ T
IR B 2 |

(2) stmqa;maﬂaﬁsﬁ?mo;

T HRG B Y€ I YA B

(3) LA T AT A-EHEl HfeeedT
aiffshar 2 |

@) WW+IW$WW
gﬁmmﬁz‘?mmm
|

T e @ AGHEYT BY1 @ 9T

m@m@mmwm@

FrifeEEe SIE ITE & &1 U8 Yo

% = W >&=bc=CL
) wdE @) 2=EAY 1
B 2fEEd (@) 24w BT
T St &) UL @ f7T log k 3R 1
& ey Wiar T4 T ERT —
logk 'l‘/éd/\\
- q_.sc‘ﬁm’%
T —> "\'_ﬁ«& - o~ @
%) 0 ’“
!
logk
ur —
3
i log k
/T w—

e sl
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ik
I
i o 3 . -
j' w 96. In case of an ideal gas Joule Thomson 96. T® aredt 4 B A I et Tl
i | coefficient is - g -
(1) Zero (2) Positive Wy T (2) oS
I (3) Negative (4) Infinite @ =®IED (4 AT
97. Which of the following is not the component of ~ 97. frefafad § A BTl HATTHD Is 5
emotional intelligence? Hed T8l 87
(1) Emotional perception (1) Siafre TEfTHRYT
(2) Emotional integration ) Hiafre THIDROT
(3) Emotional understanding 3) qrafire FHT
(4) Emotional imbalance (d) A KGR
98. In the reaction: 2 —bromo — 2, 3 —dimethyl 98, AT 2 STl - 2, 3 —STMAATA e 4
butane + RO~ — 2, 3 —dimethyl — 2 —butene + RO~ — 2, 3 —STEAYTEd — 2 I + 2,3 - |
2, 3 —dimethyl — 1 —butene. TEMEd - 1 -2
Maximum amount of 2, 3 dimethyl — 2 —butene 2,3 SRR — 2 — 2 D) HditE @
would be formed: when RO™ is - LH;clb gt <[@ RO™8NIIT — L
(1) CH3;CH:0 C—-C L_e DlL (1f CH3;CHO"
(lst \or CH,
_ |
2 CH— (Ijo @ CH— (ISO -
CH, CH,
ICH3 CH,
_ |
3) CH,CH, — ‘130 (3) CH,CH,—CO™~
|
CH,CH, CH,CH,
szCHJ CH,CH,
" |
|
CH.LCH, CH,CH,
99. A molecule has enough electrons to fill 99. U Y & U 15 MO Ry 0D i
15 MOs. Which of the following statement TGS ¥ | eifeRag weodt # @ 1
about this molecule is not true? I & oY Hey T ¥
‘ (1) The 15 MO’s with lowest energy shall 1) g ToT < T 15 MO |due R
| be filled first. TRAT |
| th .
| (2) '}l;lg:lvl[?) MO on the list shall be called @ @ ff 155 MO &1 HOMO 8
L . SRR |
3) The 16™ MO on the list would be
< LUMO. 3 & F 163f MO, LUMO €|
(4) The larger the energy gap between \@~HOMO iR LUMO & %
HOMOs and LUMOs, more easily a _355” AR Al gy Sae & 3
molecule’s electrons shall be excited. SIS AR &1 ST | |
14-9 Page 20 of 32




e RiF &S BT 0.1 M ZnSO4 ez # s1er

100. A zinc rod is dipped in 0.1 M ZnSOs solution  100.
in which salt is fully dissociated. Calculate the a7 3R oravr 39 faeras ¥ gotaar famfsa
potentlal of tl'zli half cell : 2| ot Je: Zn(s) — Zn?-‘f(aQ) + 2e-
Zn(s) — Zn~"(aq) + 2e” & fapra @Y TTorET B, AT & —
. ° : RT
Given that Ez, 7,2+ = 0.76 V and == = 0.06. Epp/znz+ = 0.76 V 3R Bl=0061 4,
(1) 0.96 V (1) 0.96 V g’ﬁ e°— q_—%‘;’\ﬂ.\}-”% \o
3 070V 3@ 070V G- =
@ 079V @ 079V o
101. Which is not the most common coordination 101. <JrFoATES @I Wi AHTH [qEadl A=
number of Lanthanide? 8l & —
@ 6 @y 6
2 7 @2 7
3 8 3 8
@ 9 @ 9
102. Which of the following molecule has seesaw 102. aropali # fhadT el TPl
shape? =14
1) CIFs a CcIF; T
(2) XeFa (2) XeFa
(3) SFa (3> SFa,
(4) BrFs (4) BrFs
103. The conductivity of 1x10-3 M acetic ‘acid 103. 1x1073 M g Bl dIdedl
solution is 5105 S cm? mol™'. Calculate the 510~ S cm? mol! &1 VAIfes ol Bl
degree of dissociation of acetic acid, if molar fRgrer= @1 "9I=AT @ IOl Y| fear 2 b
conductivity of acetic acid at infinite dilution Q-\dn-f%zﬁ ares] BT BIAR_ATADBl ;q:{ﬁ agar
be 400 S cm? mol ™. 9% 400 S cm? mol™! &1 Yo N s l6S=
@ 1.25 1) 125 pry W S
(2) 0.125 )  0.125 =Py Hyees=AW™
3 0.01 «37 001 & > 2 e
@ 1.00 (4) 1.00%
104. Which of the following is not a step of system  104. #§ | HIAET YOl IFTH hT U
approach? & B?
(1) System analysis @) yorel fagergor
(2) System design and development (2) UoeN UTHY Td e
(3) System operation and evaluation 3) YOI HeETer Ud Hodie
(4) System engine 4y ToTe qeh
105. The reaction of toluene with Clzin presence of 105. Cl &1 TigsH D FRI ST AT YhIR @Y
/ heat or light does not yield — gm% § fopar | HI9ET STUTE A8 9T
?
(1) Benzyl chloride @) Ry FTERIES
(2). Benzal chloride (2) T FARTSS
(3) Benzotrichloride 3) m
(4) Chlorobenzene @ FERIFS
14- co X Page 21 of 32 oo Slo® s°__ o _/%:!
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106. Absorbance of a solution of a solute is not a ~ 106.

function of -
(1) lll\ﬂ\
(2) Concentration of solute
(3) Molar extinction coefficient
(4) Path length of the cell

107.  Assertion (A):  Entropy of a solid at  107.

absolute zero is found to be
zero.
Reason (R): Number of possible states
- for the solid is one at
absolute zero.
Select the correct answer -
(1) Both (A) and (R) are true and (R) is the
correct explanation of (A)
(2) Both (A)and (R) are true and (R) is not
correct explanation of (A)
(3) (A) is true but (R) is false
(4) (A)is false but (R) is true

108. Consider the following parameters -
(a) AHmix =0
(b) AHmix = negative value
(c) AHmix = positive value
(d) AVmix = positive value
For‘a true solution, the correct answer is -
(CVIEY '
@ ©
(3) ()
@ ()
109. The pH of a solution obtained by mixing 50ml  109.
of 0.4N HCI and 50ml of 0.2N NaOH is -

108.

ey fom @ fao@a @
aefiferRaa & faedT Bor 8 82

B Amax
(2) faera @ A=

(3) wer e one

@) A P 9 g

Ao (A): TP SN B Wy o -
W@WW%|

PR (R): OV T I P g
SIS B AT v

FE SR A — ‘

W THE(A) SR (R) 9 € @R (R),

(A) BT FE ARAT & _
() 3H(A)IR (R) 9T § TG R),
(A) B T8 ARAT T8 ©

(3) (A)TI & 3R (R) I 2

@ (AN 2 IR (R) I &

arenferRad Refe’l R IR &%) —

(a) AHmix =0

(b) AHmix = ROTHD HIH

(€) AHiix = SFTHE A

(d) AViix =8gA1cqd 941

I [Aergd & forg 98 SR & —

(1) (a)

2 (©

N3 (b)

@ @ | |
% faera= 0.4N HCI& 50 fe. e 02N

NaOH & 50 fefl feree amr T
fa?ﬂlﬂih'rpH?ljﬂT— Hd N ;N\)a_c(

(1) -log2

(2) -log0.2 1) dog2 N

3) 1.0 (2) -log0.2 ’ \Lb‘at“ﬂ |

@ 2.0 3 1.0 . e — 8)
@ 20 A
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110. +8 Oxidation state is shown by which of the

following transition elements?

@) Co

) Fe

(3) Mn

4) Os
Assertion (A): Lanthanides may be used as

biological tracer of drugs.
Reason (R): Lanthanide absorption peaks are
narrow and very characteristic.

111.

Select the correct answer -
(1) Both (A) and (R) are true and (R) is the

correct explanation of (A)

Both (A) and (R) are true and (R) is not

the correct explanation of (A)

(A) is true and (R) is false

(A) is false and (R) is true

2)

(3

)
112. Assertion (A): In the bromination of benzene,
the catalyst FeBr3 is not added
from outside but generated
inside the reaction mixture by
adding Brz and iron filings.
FeBrs readily reacts with

Reason (R):
moisture and rendered inactive.

Select the correct answer -
(1) Both (A) and (R) are true and (R) is the

correct explanation of (A)

Both (A) and (R) are true but (R) is not

the correct explanation of (A)

(A) is true but (R) is false

(A) is false but (R) is true

(2)

3
@

11 . e . :
3. C4rystal field stabilization energy for high spin
d* octahedral complex is -

arhferRaa dmaor engsll d +8 SifaRihRoT
argeer fopad gRT yalRid @1 STl 872
@) Co
(2) Fe
(3) Mn
4" Os
SRPeT (A): SFOFIEE BT TN D
areifelEe 2R & ®U H
GART R G © |
W(R):#«e}ms@aﬁmﬁwﬁzﬁmﬂv?
vq eIfore Bl B |
|E SR Al —
@y @A) R R) ¥ ¥ AR (R),
(A) & TE AT BT &
=M1 (A) R (R) ¥ € g (R),
(A) 1 \E ST TE B ©
3) (A) T & 3R (R) 3T ©
@ (A) I § 3R (R) §F
W(A):Wa}Wﬁ,m
FeBr; &1 aTgx 9 fAcax
arfafepar fAsror § B defm
TR B AT AR
Feg=1 B & |
HROT (R): FeBrs T @ et digar & fbar
@y iffpareicr & Sl € |
TE SR Al —
gy =EhA) SRR wE € 3R R),
(A) & TE AT BRAT ®
3T (A) @R R) ¥ § G (R),
(A) @1 |E T TE BT B
B) (A) ¥ & 3R (R) 3G &
@ (A) I ? IR (R) 9 ®
113. S=a_=mv d* srewddd Wad & fag
freea &y wmrfleRy Sul e d 9

110.

111.

2

112.

2

a I 1 82
(2; ~0.6 A0 @y -0.6A0 R " ey
3 -1.8 AO (2) -1.8A0X 144 ;,%
@) -1640+P 3) _ w
" 3 -1.6A0+P —os
) 1240 ¥4 —1.240 il o
14_@
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114. Lineweaver — Burke plot is drawn between 114. IéT () IR W_\li\'_d [s] &
velocity (r) and substrate concentrations [s] in far—9o wilc &y YR @ﬁﬂ LY
which of the following ways? 4 Iy

@ 2 and 5] M 1 &)
(2) rand[s] 2 r 3R [s]
3 I and .k 3y = AR =
r [s] r [s]

@) rand = @ | ar = Q(’
G

115. 36g of glucose, CsHi20s, are dissolved in 2kg 115, 2kg Sl # 36g W’@{H.zoﬁﬁm t3
of water in a vessel. At what temperature (°C) @ g Eal M) H B
shall boil? K for water is 0.52 K kg mol! 2 ol & U Kb =0.52 K kg mol! i

1) 273K ‘Z ’l@ 1) 273K # m ¥
(2) 100.52°C =P T2y 100.52°C s q¢
(3) 99.948°C VRS P¥es Y (3)  99.948°C s
4) 100.052°C | -3\ d) 100.052°C

116. In Nessler’s reagent, the active ion is - 116. o MdHHEG H AlKY MR & -
(1) Ag* 1) Ag+2
(2) Hg* (2) Hg* A
(3) [Hgh]? @) Mgz M
4 [Hgl]? 4y [Hgl]?

117. Which of the following is not the 117. f=faRad # 4 HG AFRNG ©U A 7R
characteristics of mentally healthy person? Zfda @1 faewar =) 87
(1) Emotional balance @ wafie e
(2) Socially adaptable ) WS w9 | IdHId
(3) Impatience (3 e
(4) Optimistic outlook 4)  ememare) gfteamior

118. Consider the carbocation’s — 118.  SEiIfiRag Prefderd W fuR o -

® ®
(a) CH, _CIjH"CHz —CH, @ GH _?H_CHZ -CH,
CH, CH,
® )
 “HGH-CH-CH, @) CH;—CH-CH,-CH,
cl (l:1
@ ® i
©) CH, -CH, —(l',‘H—CH2 © CH, -CH, -CH-CH,
cl e = |
The most stable carbocation is - qatfers FTaTE cl - |
M (@ a (;mé £
2) (b) @ (b “
sl @ (0 |
(4) (b) and (c) equally stable @  (b) 3R (c) T WU & ReR A
%‘
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Assertion (A): Nitrogen shows a i
. maximum 119. SIfHUT (A): TESIo SeedH AEaaraTdHdl

.‘covalency of 4 whereas qeffq wxar & wafe
phosphorus shows a maximum ‘ W—\,—\qi gaﬁfqg zﬁqﬂ[‘
covalency of 6. . =T eI ﬁgﬁé ST, 2!
Reason (R): Nitrogen has higher (R): R E forp ’ - ‘
electronegativity than phosphorus. N RS
Select the correct answer - ' T G:;?#r B e ¥ R
R 1) [ (A) 3R (R) I & R),
(1) Both (A) and (R) true and (R) is the (A) @7 TE AT &
correct explanation of (A) i ¥ URg
(2) =<Fi(A) R (R) 4 & (R),
(2) Both (A) and (R) are true but (R) is not (A) ?i"r )-\qé’r a:l(R?)JT 71(:&“3 g
the correct explanation of (A) ~ 3) (A) 94 & 3R (R) 3ra<d g
(3) (A)is true and (R) is false Ay (A) A £ 3R (R) 99 g

(4) (A) is false and (R) is true ¢
senferRaq wedi  H @l KiEal

120. Which one of the following statements is not 120.
true for complex [Co(NH3)6]**? [Co(NH3)s]** & el # A 27 r_\,A"LMO’“’
(1) It is paramagnetic. 1) € JFFEHI gl 58" 1D
(2) Itis low spin. @) g8 = Rad el ALHI
3) Itis octahedral structure. ‘ @3) T AT HADIT AT 21
4) Cois sp>d? hybridized. 4 Co, sp’d? GaRa 21
Preffad § ¥ @R AR ERT HEd

121. Which of the following is the highest stage of 121.
e T @ [diea TR 27

cognitive development given by Bruner?
(1) Enactive stage (1) sfspg @t
(2) Symbolic stage (2) UdBIcAD FIAT
(3) Iconic stage ) B3y FffeETTEd STzl
(4) Sensory stage (4) e SyavRr
122. Among the following radicals, most stable 122, sEnferRad Terdl J waiftre wrE & —
radical is -
() CH,=CH M) CH,=CH
@ CH,=CH-CH, ~2)" CH,=CH-CH,
R R
| |
®» R—C® g3 R— <|3
R R
R

s .
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123. The second order rate constant of a reaction at
100°C is 3 x 10 L mol™! s~!. Calculate the
value of the rate constant at 400°C. Given that
the energy of activation of this reaction is equal
to zero.

(1 9x10~*Lmol!s™!
2) 1.5x107 Lmol!s™
(3 3x10~*Lmol!s™

@ 6x10°* L mol!'s™

124. Which of the following is the second phase of ~ 124.

syntax of inquiry training model?
(1) Encounter with the problem
(2) Data gathering process for verification
(3) Formulating an explanation

(4) Analysis of the inquiry process

125. Lack of which of the following vitamins in 125,

humans may cause anaemia?
(1) Vitamin B>
(2) Vitamin B;
(3) Vitamin B3

(4) Vitamin B¢

126. Based on the standard reduction potentials — 126.

(a) Ag+e— Ag(s);+0.80V
(b) Cr*+3e—Cr(s);—-074V
(c) Cu*+2e—Cu(s);:+034V
(d)  AP*+3e—Al(s); ~1.66V
Identify the strongest reducing agent metal.
(1) Ag
(2) Cu
(3) Al
4) Cr

123.

-

100°cqvw@?ﬁﬂﬂif<f%a’°fﬂﬁ%m¢h !
frrdie @1 A 3 X 107 L mol-! ]
400°C WX 9T FAdiD AT ST B | Regy

f g BT B WA SN Py
YRl Ve %
1) 9x10*Lmol" s
2) 15x10*Lmol™"s
«3J 3x10*Lmol" s
@ 6x10*Lmol"s™
Prefafed 3 9 B qEAS A
e @ e @1 T orERen &7
(1) AT BT [HAT DAL

(3) GERIH IT BROT BT GG BRT
(@) ywars gfhar &1 fazergor
sifofe § 9§ g faef= @& &4 9
IRGAT AT A B Gl o7
\(,Y)/faETﬁFfoz

(2) faerf@s B,

3)  faf= B,

@) fIafE Bys

AAE A g & R W —

(a) Ag*fe—)Ag(s);+0.80V

(b) Cr'*+3e—Cr(s); — 074V

(c) Cu™ +2e - Cu(s); + 034V

@) AM+3e o Al(s); —1.66V

~1

'\‘:ﬁﬁm?ﬁ 3T g"—g- Wr'ﬁl
1 Ag
(2) Cu

3y Al
@ Cr

14-9 |
Page 26 of 32




Fluorine shows only one, —1
oxidation state, whereas other
halogens show both positive

‘ and negative oxidation states.
- Reason (R): Fluorine is the most

S electronegative element.
Select the correct answer -

(1) Both(A) and (R) are true and (R) is the
correct explanation of (A)
Both (A) and (R) are true but (R) is not
the correct explanation of (A)
(A) is true but (R) is false
(A) is false but (R) is true

117 Assertion (A):

)

(€)
@

128. Branch of psychology dealing mainly with
problems, processes and product of education
is known as -

(1) Educational psychology
(2) Psychological education
(3) Animal psychology

(4) Child psychology

129 ‘The bond order of each C-O bond in carbonate

ionis- .
@
2)

3 15
@ 2 fowdr .
130. Identify the untrue statement about substitution

(=

W

=X group in CeHs -
* (1) AG® for the reaction :
C¢Hg — CsHsX is close to zero.

=

127, sfpert (A): weir SRR @R @ B
g —1 aifaiRoT Srae,
Srafp org garur D
T GATEE DY SRADT
R wefdfa w € |
PROT (R): Feirdr i faggerre
2l ,
FE SR Gl — |
Maﬁﬁ(A)eﬁz(R)m%aﬁv(R),
(A) & & ARAT &
2) M (A) @R (R) ¥ € G (R),
(A)ﬁﬂé’rw@raﬁ%
3) (A)W?&ﬁY(R)W?
@) (A)m%eﬁz(R)m%

8. e @ 98 s o g R @
T3, gﬁ?msﬁaﬁ?awra‘fq‘qaﬁfaﬁ
3
e FAfAET
S2F ARG R
@) g A
(4) drel FANA=TT

129. mﬁﬁamﬁﬁmc-odaaﬁﬁ%.
= e A BB
@, 1 i F e
2y 4 y

3 > -

3) 15
@ 2 |

130. CeHg ¥ — X WF @ WRReIIUA & Hae |

IR PUA UBAIY —
(1) AG°®T w4 AfAfsAT :
CsHe — CeHsX T A & |

(2) The addition reaction: (2) IS JAMAfHAT ¢
CeHs + X2 — CeHeXz is highly @+ éj CeHs + X2 — CeHeX> 3 FHorremdy
' endergonic. =4 ?
() E, for formation of addition product B ST ST ek T B
CeHsX, is higher than for the CellsX T7 T Gﬁ&ﬂ'.m s )
© formation of CHsX- ‘ G SRR SR CeHoXs
4) The non-aromatic product CeHeX2 18 LR & S R B :
1 ‘-14~w as stable as CeHsX. < W g ) 4‘%& . ﬁf .
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131.

132.

133.

134.

135.

Maximum ozone found in the altitude region in 131. s
atmosphere is - grar Sl 5

(1) 0-10km @ 0-1 fa.

(2) 20-30km 2) 20— 30 el

(3) 50-60km A3 50— 60 .

(4) 80-100 km @ 80- 100 faHl.
Organotin compounds - 132. HE—fe AfTd —

(1) are used as pesticides 1) EEEIRIEN @1 avE 93 BT

' SR ERANCH § T
(2) areused as preservatives of wood. - By N o B
(3) are used in the production of VI NN ¥
I 3) el fAioT H Fg
polyurethane foams. R

(4) arenot carcinogenic. @ . 5 B 3
Which approach to learning holds that people 133. Hrew @ fog Bl g‘f@?ﬁm I8 AT ©
actively ~construct  or make their own 5 T gfsha wd | I =M1 S NEC RG]
knowledge and reality is determined by the g 3k TE arfaadl Rremft & G]TWT k|
experiences of the learner? PyiRa gl 2

) Constructivism “QJH AT

2) Behaviouralism 2 IERATE

A3) Functionalism (3) @ 5

“) Structuralism @ ot
Parameters belonging to orthorhombic crystal 134. ]%IW oTeT feheed e 3 qaferd e R 1A
system are - 4 g -

@)) a:b:C;(X.:B:'Y=90° '\;j\ (1) a=b=C;a=ﬁ='Y=90°

° 2y azb#c;o=p=y=90°

@) azb#c;o=p=7=90°
3 a=b#c:a=p= 90°7y=120°
@) a=b=c;o=B=7#90°

Incorrect statement

compounds is -
(1) C-Li bond is highly polarized.
(2) Organolithium reagents are strongly
basic.
(3) Organolithium compounds are starting
material for the preparation of other
organometallic compounds.

about organolithium 135.

M a=b#c;a=p0=90°%7= 120°

4 a=b=c;o=Bp=y#90°
ga‘%r@wﬁﬁlﬁa%ﬂdaﬁmzﬁm?

(4) Carbon in organolithium compounds 2 2
U
attracts most of the electron ions and ¢
resembles a carbocation.
14-%
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; 6. [ncorrect statement about CO,is -

(1) COz has four vibration modes 136. CO, @ Hay ¥ 39T HAF & —
(2) Asymmetric stretch vibration of CO, ; (1) CO, @' IR B4 faurd &l 2|
IR inactive. 218 2y~ CO, B Irgafiid T U IMEIR.
3) Syr_nmetric stretch vibration of CQ, ; (IR) 3ifhareiier g & |
IRmac.tive. 218 (@) CO; @7 |afd &ud L3R, (IR)
(4) Bend vibration of CO; is IR active, stpareiict m g !
4) CO; @1 ;ﬁf: gEh‘CFf JER. (IR)
. - ERINIE |
137. ?ftlzrltlllagr)b(, il;ict%h-Ol shall be obtained by reaction 137. Y@ IS Yeplera YT €T & RMgX Eal
(1) HCHO fopam —
(2) RCHO (1) HCHO
(3) RCH,CHO (2) RCHO¥
4~ RCOR q

;3. Intramolecular hydrogen bond is present 138. /= # ¥ f<g# araifoad (Intramolecular)
in - FTESIo §¢ JuRer &7
(1) Water (1 <
(2) O-Nitrophenol 2y O-ATSSIhAT
(3) P-Nitrophenol (3) P- o
(4) Methyl amine @)

139. Sucroseis a - 139. gHEF & TP —

(1) monosaccharide (1) AHA™PRES
(2) disaccharide A2y STRAPRITS
(3) oligosaccharide &) RS U SRR ERES

(4) reducing sugar @ 3?:11??[ ‘\’T?:?T_\‘Fﬁ "

140. In relation to glucose, match Lists 1-and 2.and  140. o @ W H 1 2 &1 e
choose the cofrect answer from the code given F1.gd A Ry He 9 Gl SR U AT —
below — : -1 T - 2

List - 1 List -2 (arfarem+®) (fFrspe)
(Reagent) (Conclusion) () HI® IR (D) >C =0y
(a) Prolonged (i) Presence of a® g SufReIfay
heating ~ with > c=0 faar
HI _ (b) HCN & &1 (i) Ulcsess®
(b) Reaction with (ii) Aldehydic B Nc=0
HCN Nc=0 il
/_ (c) Br S B (iii) YS—HEA
(¢) Oxidation with (iii) Six hcalfz;’: SIS W s
Br; water straight € . :

(d)  Acetylation (iv) Presence of (d) . ey (Gv) W= —OH
five  — ' e EQl
groups Suferfa

Code - @ - . !

a & ¢ d

o & i n v @y i i i v

@) i qv i @ i Hoooiv i X

@) i gy, i i @ H v o il i

@ iy iii~ ii i @ iv iii il ix

14.
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141.  af@od (A): AlOH): &1 gy

141. Assertion (A):  AI(OH): is preferred  as
antacid over other metal JiferATg St Tg E"Ig;w;g
hydroxides and oxides. 1 370 Ui arey I B |
Reason (R): Al(OH), is insoluble and sferes gde LR ¥ ™ 1
does not increase pH over HRIT (R): Al(OH); a1faeryg 2 w |
7. &1 7T 7.0 9 A 74 L
Select the correct answer - Tl B
(1) Both (A) and (R) are true and (R) is a8 IR BT T e -
the correct explanation of (A) (1) 25t (A) @R (R) T # ik ®) |
) E;mh (A) and (R) arc lmcfhm (R) 1s not (A) A TS AR o ! I
the correct explanation of (A) . : _ l
(3) (A)is true but (R) is false (2) &l (A) AN R) W.?{ T ®),
d) (A)is false but (R) is true (A) I W AT Tl A
7 (AT & AR (R) FA 2
@) (A) 39 2 IR (R)FF 2 |
142. T and V represent the kinetic and potential 142. T 3R v weffa @=d € Wfad vd Refw |
encrgies respectively. then the Hamiltonian (H) o § e, fucei=aa (H) &1 7
is given by - BRI —
() H=T-V 1 H=T-V
T
@) H= = 2 H= %
3) H=TxV 3) H=TxV
(4) H=T=+V 4 H=T+V
143, Base not common 1o both RNA and DNA - 143. &R® Sl RNA 3R DNA SHi % 31 g
1s - Y |
(1) Adenine 1)  TfH= A
(2) Guanine @ Tt &
(3) Cytosine (3) wTEARE C
(4) Uracil N8 qﬁﬁﬂ
144. Who was the propounder of sociocultural 144 ﬂ?ﬂw oo @ W
theory of cognitive development? wfourgs B A7
(1) Jean Piaget (1) <= e
(2) Jerome S. Bruner (2) SRM T TR
(3) Lev Vygotsky L3y o AT
(4) William Wundt @) fftrm T’E
145. The 7 - bonded organometallic compound 145, 7 — 4 wEafge dife R o
which has ethane as one of it’s component is - $APBT Uh ¥Th § —
(1) Zeise's salt \/(,l)/ SN ¥iee
(2) Fermrocene 2) B
(3) Dibenzene chromium STz
(4) Tetracthyl tin 8; :ﬂTQf;‘; s
AT %—‘_{ /
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’146- ~ Assertion (A):

Pheno]' is
23 a Str i
than aﬂ"zilchol, B
Car.bon atom in phenol to
ached is sp? hybridi
Select the correct answer - P bridized
1) Both (A) and (R) are true and (R) is the
~ correct explanation of (A)
2) Both(A) and (R) are true and (R) is not
the correct explanation of (A)
(3) (A)istrue but (R) is false
@ (A) is false but (R) is true
147. Which of the following element does not come
under scope of educational psychology?

(1) Nature of learning
2) Growth and Development of Human

Personality
3) Individual Differences
4) Mental Disease

Reason (R):

148. Assuming that fora reaction
A(s) + X*(ag) = A 2+ (aq) + X(s)

K is 2.0, calculate the standard potential of the

cell. Given EFI — 0.06

(1) 0.045V
(2) 012V
(3) 0.009V

@) 0.0018V '
In which of the following colloidal forms both

dispersed phase and dispersion medium are
liquid?

(1) Butter

(2) Milk

(3) Soap Lather
@) Cloud

150. Among the following carbonyl cOmE.
least reactive for neucleoPhilic addition 15~

149,

pounds,

(1) Butanone
(2) Propanone
(3) Propanal
(4) Ethanal

146. AU (A):

147.

148.

149.

150.

T%@fmﬁ
STYETT ad
2 3 e

SRUR): T H R e o
7AW -OH 998 e
3 78 sp® WA B g
& SR Tl —

1) 2 (A) 3R R E IR R), (A)
| A & @ w8
) 21 (A) 3R (R) ¥ € TG (R), (A)
aﬁvﬁmaﬁm%
M(A)W%@?(R)m%
@) (A)m%‘aﬁumm%

ﬁmi%{ﬁﬂﬁq@aﬁwaaférm

a%amﬁaaa%mﬁﬁqﬁrm%?

1) FEgy P gPid

2) HFa @ & afigly R AT
famra

(3) Jafeae Ae.

Jga/qﬁﬁ%ﬁim

%qﬁﬁgﬁﬁﬁ'aﬁﬁﬁm

A(s)+X2+(aq)—>A2+(aq) +X(s) @ Kc @7

qmz.o%,eh@am‘wﬁwaﬂmaﬂ |

a1 fan & fp 5= 0.06 £°/‘g‘5{’%‘$

1) 0045V LAY eue

@2) 012V 077 sebc

(3) 0.009V

4y 00018V

apefiferRad i wif § feed qE

qffra Taen U@ qReger A &4 B

27

1) HEE

2y ™

@) Wrgd oA

@) LA

3 Afirel #§ TG T

Wg Wﬁmmm@am

?

@ T c c—c—%—¢

@2) WM ST o

(3) WA o

@)

____________________
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_____________

14‘% Page 31 Of 32




